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Correlation and Linear Regression Test 6
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Answers

Correlation and Linear Regression Test 6

Q1
(i) Let k be the missing housing price index for 2011.
$=111.775 and x:%

Since y and X lies on the regression line,

111.775 = 54.271+0.48363 (%J
k=136 (3 s.f.)(shown)
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From the scatter diagram, as x increases, y increases at a decreasing rate. Thus the
linear model might not be the most appropriate model.

(ii1) (Note that there is no clear independent variable.)
From GC, an appropriate regression line would be

Jx =0.0896y+0.860 (3 s.f)

When y=134.6, from GC, x=167 (3s.f).
The estimated housing price index in 2016 is 167.

Since y=134.6 falls outside the data range of v, the linear correlation between y and

\/J_l’ might no longer hold and thus, the estimate is unreliable.

(iv) From GC, r=0.979 (3s.f.).

(v) The product moment correlation coefficient between '/ﬁ and % does not

differ from the value obtained in part (iv) as the r-value is independent of the scale of
measurement.

Jx

Note that: Jﬁ T means that the values of/x undergo a scaling of 10 units and

F{Omeans that the values of y undergo a scaling of 100 units.
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